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For each questien from 1 to 28, four options are given. One of them js the correct answer,
Make your chalce (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.

(66 marks)

1  Which of the following characteristics can be used to group amphibians and
mammals?

' (1) numberofiegs
{2) presence of wings
(3) presence of a tail
{4} type of body covering

2  Study the chart below.

Living things

Does it produce

snake
spores?

Does it make its
own food?

R
Which of the following is comrect?

P Q R
@)  cat mushroom bird's nest fom
2) ~ cat bird's nest fom mushroom
(3) bacteria mushroom __bird's nest fern
(4) bacteria bird's nest fern mushroom

Q00B/02(A)
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Amanda, Ben, Celine and Dave made the following statements about the roots of a

tree
A Roots transport '
{ f 0?;3 i;rovitde foo‘:,( water to all othe:r7< '@
4 ™\ _forthetreetogrow. parts of the tree. V%,
. Ben

Amanda

'LtRooﬁ anchor tha } [ Roots absorb water VF %)
@‘ tree fo the ground. and mineral salts.

Y -

Dave

Who made the correct statements?

(1)  Amanda and Ben only

(2) Amanda and Celine only
{3) Celine and Dave only

(4) Ben, Celine and Dave only

The picture below shows a person cycling.

Which organ systems work together to enable this person to cyclae?

A Skeletal system

B  Muscular system

C Circulatory system
D Respiratory system

(1) AandBonly
{(2) BandConly
(3) A, CandD only
{4y A,B,CandD

(Go on to the next page)
0809/02(A)
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5§ The diagram below shows a small ring of a stem removed from a plant. The ring of
the stom that was removed contained food-carrying tubes.

top of stem

bottom of stem

leaves

leaves

Which of the following shows what the stem will look like after some time?

(1)

(3)

2)

15

—
—

Q00D/02(A) —
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8 A, B, C,DandE are organs in the digestive sysiem, Mwhmmvsm
amount of undigested food leaving each organ alter g meal.

amount of

jundigested food
leaving each organ

Which of the following is correct?

organs in
digestive systermn

O00BNGZ(A)

Mouth ~ Gullet Small Intestine | Large Intestine
(1) A D B £
2) A D [ B
(3) B c D A
(4) B E A b
{Go on to the next page}
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o were trapped in a small lift for 30 minutes. Which of the following graph,
Q:t?:;ssents the composition of alr in the lift at the start and at the end of the a3y

minutes?

7

Kay

at the start of 30 minuies

at the end of 30 minutes
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8 The diagram below shows parts of a human system and a fish system. The
arrows represent the exchange of gases with the surroundings.

Which arrows show the air/water having more carbon dioxide?

(1) PandS
(2) QandR
(3 PandR
(4 Qand$

8 which statement(s) about the ¢ells in our body is/are correct?

A Each cell is a basic unit of life.
B A cellis a system made up of several parts.
C Living things can be made up of one or many cells.

(1) Aonly

(2) Bonly

(3) AandBonly
(40 A,BandC

(Go on to the next page)
000O/02(A)
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10 Tom cut a root into pieces of the same size and placed each piece Into a glagy
container. Each container was kept at a different temperature,

container —

water —1=

The root contained a red substance,

After an hour, Tom observed and recorded the colour of the water in the containers
in the table as shown below.

Set-up Colour of water
A ight pink
B pink
C dark pink

Which of the following explains her observation?

Temperature change Effect on root
(1) decreased The cell wall prevented more red substance
from moving out.
@ decreased The cell membrane allowed more red
| substance o move out,
(3) increased The cell membrane allowed more red
: substance to move out.
(4 increased ‘Thie cell wall prevented more red substance
) from moving out.

000BI02(A)
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9
The diagram below shows the life cycle of a plant.

SN

adult plant young plant

Fy

Which one of the statements is not comrect?

(1) A seed cannot make its own food,

{2) A young plant can make its own food.
(3} A young plant can bear flowers.

{4)  Anadult plant can bear fruits.

The graph below shows the mass of focd eaten by a butterfly during the different
stages, A, B, C and D, of its life cycle.

mass |

of food

eaten

0 stage
A D
Which of the following is correct?
A B C D
{1) pupa larva aduilt egg
(2) eggd larva pupa adult
(3) egg adult pupa larva
{4) adult pupa larva eg9g
-{Go on to the next p_ége)

000B/02(A)
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10

Which of the following tralts can a child inherit from his/her parents?
A Colour of skin
B Length of hair
C  Colour of eyes
D Typeof eatiobe

{1) AandConly
{2) BandDonly
{3y A,CandDonly
4 ABGCandD

Alan conducted an experiment using two setups, A and B. He placed five seeds in
set-up A and left both setups in a warm and dark place.

Afler two days, he observed that the seeds in set-up A germinated and the
limewater tumed chalky. The limewater in set-up B remained clear.

Limewater tums chalky in the presence of carbon dioxide.

cover

inati p) cotton wool . dead seeds soaked with
rminatin 4
9 se:‘d?s 2 substance X to prevent
bacteria from growing

clea'r
limewater

setup A set-up B (control set-up)

chalky:
limewater

In Alan's experiment, he wanted to find out if seeds

(1)  need carbon dioxide to germinate

(2) give out carbon dioxide during germination

(3) need water, oxygen and warmth to germinate

(4  give out carbon dioxide and water during gemination.

0D0BAZA)

BP-800
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15 David set up an experiment as shown below to compare a property of four planks,
W, X, Y and Z, which were made of differont materials,

2 kg brick
T

plank —z L gtaeors
............................. " between the
wooden —— ouen o
woode lowest points of
the plank)

For each plank, she added a 2 kg brick on it and measured the distance 4.
Her results are shown below.

Plank Wl X Y 4
Distance,d{mm) | 24 | 38 | 10 | 43

Based on David's experiment, which plank is the most suitable for making a food
tray to hold a few plates of food?

- w
2 X
@ Y
4) <2

{Go on to the next page)
CO0OI02(A)
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16 Jacqueline wanted to find out If the colour of a cloth affects its absorbency. She

prepared the set-up as shown below.

string
cloth
hanging rack

basin of water

She made a list of variables of this experiment:

A

8
C
D

Colour of cloth

Type of fabric of cloth

Height from which the cloth s hung

Length of the cloth that has absorbed water

Which of the following is correct?

Variable(s) Variable(s) Variable(s)
to change to keep the same to be measured
(¥} A B,C - D
{2) A, D B8 C
3 B AC ‘ D
4 D B.C A

ODCY/D2HA)

BP-802
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17 Barry made a game using the objects shown below.

rod 8 = rod T
/ o & jbal’

toy flower A toy flower B
3
n| T magnet
[
jastic holde

The lower end of the bars was brought near fo the toy flowers to pick them up.

Rod S could pick up both toy flowers A and B.
Rod T could pick up toy flower A only.

Which of the following shows the bars for rods S and T correctly?

{1 Rod S Rod T (2) RodS Rod T

)  Rods Rod T @ RodsS Rod T

ron bar i iron bar

(Go on to the next page)
0008/02(A)
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: ” d using tho “stroke” method as shown in Diag
1 gi:mazr:hma:: ﬁﬁmd poler;gof AB after it was magnetised, Fam 4

magnet

Diegram 1 Diagram 2

Steel bars CD and EF were magnetisad as shown in Diagram 3 and 4.

*n
/ Y
<«
| :
[y ———
P

Diagram 3 Diagram 4

Which of the following shows the magnetic poles of bars CD and EF correctly?

[y s N [~ s
c D E ' F
| @ s N | F N |
c D E F

@ N 5 N s
' c D ' E F

@ N s S N
: c D E F

0008/02{A)
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20

16

Which of the following statements is true for all states of matter?

(1)  Matter has mass and definite volume.
{2)  Matter has mass and occupies space.

{(3) Matter occupies space and can be compressed.
(4)  Matter has indefinite shape and indefinite volume.

An experiment was set up using a sealed flask which can hold a tfotal of 100 em? of
different substances as shown below.

f[\% pump

40 om? of air

10 o solid clay

20 cm? of air was then pumped into the flask using the pump. What is the final volume
of air in the tlask?

(1) 20cm?
(2 40cm?
(3) 60cm?
(4) 100 cm?

(Go on {o the next page)
0000/02(A)
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21 ';he table below shows the melting and bolling points of three substances, X, Y any

Substance | Melting point (°C) | Botiing point (°Cy
X 27 66
Y M 83
Z 58 05

At which of the following temperatures will the three substances, X, Y and Z, be in
the same state of matter?

(1)
(2
3
(4)

30°C
50°C
60 °C
80 °C

22 Corrine conducted an experiment to obtain drinking water from seawater.

metal sheet

e

drinking water

What are the processes involved in Corfine’s expariment?

1)
(@)
3
4)

A Boiling

B Meiting

C  Freezing

D Condensation

A and B only
A and D only
B and D only
C and Donly

000B/02(A)
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23 Nicole left a metal spoon In tha fridge. After some time, she took the cold metat spoon
out of the fridge and placed it In a bowl of hot food as shown balow,

ot food
cold metal spoon

ceramic bowl

After some time, she touched the handle of the spoon and felt that it was hot. Which
of the following statements best explain her observation?

(1)
(2)
3
(4)

The cold metal spoon gained heat from the hot food.
The cold metal spoon lost heat to the surrounding air.
The cold metal spoon lost its coldness to the hot food.

vow>

The cold metal spoon gained heat from the ceramic bowl.

A and C only
A and D only
B and C only
C and D only

(Go on to the next page)
CODDIOZ(A)
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24 Aaron conducted an experiment using the set-up below,

gontainer made
of material P\ / liquid X at 90°C

-----
-
e

4—— water at 25°C

He measured the temperature of liuid X in the container over a period of time.

He repeated the experiment using a container made of material Q. His results are
shown in the graph below.

Temperature of 4
liquid X in the
container (°C)

+ Time (hour)

Aaron wanted o bring hot food and cold drinks for an outing. He wanted to keep the
food hot -and the drinks cold. Which material(s} would be more suitable for the

containers?
Material for container carrying
hot food cold drinks
(1) P P
(2) P Q
@ Q P
(4) Q Q

0000/02(A)

BP-808
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25 Jerry was In a dark froom. He switched on the lamp shown in Diagram 1. He then
placed a lamp shade on tha lamp as shown in Diagram 2.

l AL
\\.\ {I/ — -
Pl BN ) 4 -~
* 'amp lamp
_ shade

Diagram 1 Diagram 2
Which of the following best explains why the room was less bright than before?

{1} Thelamp does not give out enough light.

{2) Light cannot pass through the lamp shade.

(3) Lesslight from the lamp enters Jerry's eyes.

(4) Lesslightis reflected from the lamp into Jemry's eyes.

26 Study the electric circuit shown below.

4

i

Which of the following materials can be used to make object A if we-want the bulb to

light up?

(1) iron
(2) wood
(3) plastic
{#) rubber

(Go on to the next page}
0000/02(A)
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27  Study the 4 circuit diagrams betow. The bulbs and batteries in the 4 circuits are
working propeny.
— 1 T ‘ [ l MQ
W X Y Z

Which one of the following arranges the bulbs, W, X, Y and Z from the brightest o
the dimmest?

1 W,ZYX
2 WY, XZ
3) X VY. ZW
4 ZWYX

28 Study the circuit below. The batteries and bulbs are all working properly.

it
N

b &

X

—®-

Which of the following corectly states the number of bulb(s) that would still be lit
when one or more bulbs are blown?

Bulb{s) that ia/are blown Number of bulb(s) stil lit
[(1) B A 1
@ c 3
@ | B and D 2
Eﬂ \ EandF . 4

CO0D/Z(AY

BP~A81 0
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Write your answers to question 29 to 40, write your answers in this booklet.

The number of marks avallable is shown In brackets [ ] at the end of each question or
part question. _
{44 marks)

20 Kenneth placed a part of a celery In a beaker of blue-coloured water.

_ celery

heaker

biue-coloured water

After one day, he cut its stem. A section of the stemis shown in the diagram below.
The parts of the stem labelled X were stained blve. The parts of the stem labelled
Y were not stained blue,

(a) State one of the functions of the stem of a plant. il

(b} Explain why part X was stained blue, but part Y was not. )|
Score

2

0009402(8)

BP-812



BP~813

3

30 The diagram below shows how food and various gases are fransported in the
human body.

Food Key:
)
ystem X ——» Path taken by food
' --------- » Path taken by gases
i v ‘:f
System Y
Al | 1B
R X
Respirat
Surrounding air |- = "Ss"‘)ét'e‘r::ry froarases > Exhaled air
{a) Identify the human systems, Xand Y. []
System X: System Y:
{b) Name the three parts of the human respiratory system. 1

{¢) Explain why blood vessel A h'ahsports blood richer in oxygen than blood
vessel B, (2}

Score

(Go on fo the next page)
000B/02(B)
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31 Sarah conducted an experiment to find out how her heart rate changes fvim
different activitles. She measured her heart rate immediately after each activity

and recorded the resufts In the.table below.

Activity Heart rate (beats per minute)
resting | 64

Jogging 130

skipping 120

{a) How was the heart rate affected when Sarah was jogging compared to when
she was resting? 11

(b) Explain your answer in part (a). {2]

{€) To ensure afalr test, suggest one variable regarding the activities that Sarah
had to keep the same. (11

Score

0008/02(B)
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32 The diagram below shows two cslis, celf A and cell B,

(a) Name part X and state ifs function. 1]

(b} Based on the diagram above, which cell, A or B, is a plant cell? Give a reason
for your answer. []

{c} In the diagram above, label and name on both calls A and B ancther part that
can be found in both cells. |

{(d) Give a reason why it is important for organisms o produce new cells. 1

Score
4

{Go on to the next page}
0009/02{B)
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33 Study the table below. Kate wanted to find out the effect of overcrowding on the
growth of plant Q.
Pot Size of pot Number of seeds of
plant Q
‘A large 20
B large : 15
C large 20
D medlum 15
E small 15
(a) Which three pots must Kate choose to ensure a fair test? {13

{b) After a week, the seeds of plant Q gerniinated. Study the diégram below and
put a tick In the comect box to identify the seedling of plant Q that was most

likely taken from the pot that was not overcrowded. [13
%
{(c) Explain your answer in part (b). 2]
Score
4

00Q8/02(B)
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34 The diagrem below shows a process that takes place in a female human body.

(a)

(b)

()

cellY
Name the process shown in the diagram above. 1]
Name the part of the human body that produces: {1}
{h celX:
(i) cellY:

Give a reason why it is important for the male reproductive organ to produce
many cell Y.

f1]
Score

3
{Go on to the next page)

0008/02(8)
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35 Kevin prepared two selups as shown below fo magnetise two similar iron rods.

(a)

{b}

()

20 coils of wire around the iron rod 10 colls of wire around the iron rod

iron rod 1 iron rod

. -
- ——

circuit X circuit Y

State the property that makes iron a suitable material to be used in the set-
ups above. i1

Kevin brought a bar magnet towards one end of the iron rod in circuit X. What
must he observe to conclude that the iron rod has become an electromagnet?
i

Kevin placed a tray of steel clips near the iron rods of dircuits X and Y. He
counted the number of steel clips attracted by the magnetised iron rods. What
was the aim of his experiment? 1}

Score

—  0008/02(By—

BP-818



g

36 Joe set up a glass bottle garden as shown below. After some time, he observed

some water tdroplets on the ihner side of the clear glass bottle and cover.

clear glass cover ———{~ "

clear glass bottle
wet soil ——1 7/ -'.' Y s .'...:-_:
(a) Explain how the water dropiets were formed. 2}

(b) (i) Joeremoved the clear glass cover and observed that the water droplets
disappeared. Give a reason for your answer. &)

(i) Name one factor that affects how fast the water droplets disappear {13

Score
4

{Go on to the next page)

0008/02{P)
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A plece of cotton wool was placed at the base of a plaslic cup, as shown in the
diagram below.
cotton wool —¢& 3
Y 3 e )
plastic cup ! ronsnly -
e

This plastic cup containing the cotton wool was overtumed, and putinto a container
of water, as shown In the diagram below.

1
5 S
container I A —) |
water B _ ,__,-*“-“{':'""}"""""

(a) Although water entered the plastic cup, the cotton wool in the plastic cup did
not get wet. Explain why. 111

(b) A hole was made at the bottom of the plastic cup, and the same steps were
carried out as before. Explain why the cotton woot got wet. 2

| ‘Bcore:

0008/02(B)

BP-820
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38 400 cm?® of boiling water and 200 cm?® of boiling water were poured into 2 identical
containers, D and E respectively. The contalners were then left at room
temperature.

F.! 3
00 om _boiling water

200 cm®

container D container E

The temperatures of water in containers D and E were recorded over a few hours.

{a) State the boiling point of water. [11

(®) There are some statements in the table below.
Put a tick {v") in the box ta indicate if the statement is true or false. [2}

Statement True False

At the start of the experiment, the water in
containers D and E had the same amount of heat.

At the start of the experiment, the water in
containers D and E had the same temperature.

The air surrounding the containers would gain heat
from the hot water in containers D and E.

After a few hours, the water in D and E would reach
room temperature.

{Go on to the next page)

0008/02({B}
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{c) Some men were building a road. Eddy suggested that they 5"0“::‘:‘“ agap

in between the sections ot the road, as shown in the diagram be.

section of road section of road
Explain how this gap will be useful for the road on a hot day. [2]
Score

0C0BR2(R)
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39  Mr Tan has two rooms in his house. He wants to switch on each bulb individually
in each room only when needed.

Room 1 Reoom 2

& &

{a} Complete the circuit diagram above using wires and two switches to suit Mr
Tan's requirements. ¥4

(b) Would the arrangement of the switches help Mr Tan to conserve electricity?
Give a reason for your answer., 1

(c) What is another advantage of connecting the bulbs in the house in this

arrangement? (g}
Score
4
- {Ge on to the next page)
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rhe set-up below shows light shining on three objects, A, B and C, that are made
of different materials and are of different shapes. They are placed at different

distances frofn the torch.

/ screen

These are the shapes of the objects:
A B - C

Diagram 1 below shows the shadows of the objects on the screen.

L—— screen

Diagram 1

(a) With reference to Diagram 1, describe how the shadows were formed. 1]

(b) Write the letters A, B and C in the table below to indicate the type of materials

the three objects could be made of. 1]
__  Materials_ -
_glass 1 metal 1 tracing paper

0009/02(B})

BP-824
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The positions of objects A and C are switched. Diagram 2 below shows the shadow

formed on the screen.

™ black -

Diagram 2

(¢} () Explain why the shadow of object C is not seen on the screen. [1]

(i) Explain why the grey shadow is no longer seen on the screen. (1]

Score
End of Paper 4

{Go on o the next page)
000BIC2(RY
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EYE 2024
PRIMARY FIVE
SCIENCE
Answer Kay
m&‘ ‘ .
Question | Answer Queslion | Answer | | Question | Answer
1 4 (A 3 21 3
2 3 12 1 22 2
3 3 13 3 23 2
4 4 14 2 24 1
5 3 15 3 25 3
6 1 16 1 26 1
T 2 17 3 27 1
B 1 18 1 28 3
9 4 19 2
10 3 20 2
Section B
Qn Answer
29a | Possible answers:

+ Supporis the plant

« Keeps the plant upright

+ Holds the leaves up

+ _Transports substances around the plant

29b

Part X contains water-camying tubes that transported the blue-coloured water up the stem,
but Part Y does not {(have walsr-cammying tubes [ has food-carrying tgbes).

Y: circulatory (system)

30b

MNose, windpipe and lungs

BP-827




30c | The blood in A came from the ngd  here Is just absorbed oxygen but the Holen B came from the rest of the body where |

most of the axygen are used by the varlous body parts.

A

3a

o heari rate increased.

31b

More energy s needed and the heart necds to pump more blood { heart needs fo pump faster to transport mor oxygen

and digested food to the rest of the body and remove more carbon dioxide/waste materials away from the body.

e

The durafion of eactihe activity. / Temperature of location

e madiest controls 2l activities In the 0Bl coniains Hersdtary mformation.

| ithas a cell wall but A does not.

CeflB.

Correct name: cytoplasm or cell membrane
Cortect labelting of the named part

To replace oldilamaged cells./To enable the organism to grow

B,DandE

& B 8l gl 8 8

¥

o

The seediing has thicker.stem / more leaves { sherter and thicker stem
as it does not nead to compete for light, space, water ang nutrientsiminerals (any 3 of the 4 factors)

Fertilisation

Cvary

Testis

BP-828
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345 | More of cell Y will increase the chances of ferfiiisation.

35a | Iron is a magnetic material

35b ) It should repel one of the polesfends of the (bar) magnet,

35¢ | To find out iithow the numbet of colls of wire around the iron rod affects the number of steel clips it can attract / its
magnelism / magnetic strength.

363 | The water from the soil avaporates (to water vapour).When the water vapour !ouches the cooler inner surface of the
bottle, it will fose heat and condense {into water droplets).

36bi_| The water dmplels gained heat from the surroundings and evaporated info water vapour.

36bii | Possible answers:
+« Temperature (of the surmoundings)
. {PresencelAmunilSpeed of) Wind

37a |Airin the plast;c cup occupies space so the watter cannot i up the cup comnpletely.

37b | Alr can escapelleave through the bole in the plastic cup Water can occupy / take up the space praviously occupied /taken
up by the air and ﬁll:hecup opmp}e!ely. n‘_la!dr}g the cnltpn woal wet. I

38a | 100°C

38k | False, True, True, True

38c | Point 1: Expansion

On a hot day, the sections of the road will gain hest from the swmoundings and expand.

Point 2= Explain the gap
Possible answers:

« Ifthere are no gaps, the sections of the road wili push/buckiefcrack against each other / overlap / cross over / go over /
break.

o _The gaps provide space for the seclions o expand._ .
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Room 2

38b

Yes, Mr Tan will use less electricity” as he can switch on each bulb Individuallyfindependently/one at a time

When one bulb fuses, the. other bulb can still work,

40a

A shadow s formed when kght s partialy or compietely blocked by an object.

40b

C,8A

Cbject G is fransparent / does not block light from passing ﬁmgh!allﬁws most light to pass through (so it does not form a
shadow).

Object Als further from the torch / closer to the screen oo 1 forms a smaller shadow than the black shadow / that is blocked

by the black shadow .




